
Final Assembly PCB Magazine Series 60X

  	Step	 Description	 Notes

Picture 1

Picture 3

Picture 3Pos. 1: 
Ground plate

Pos. 1: 
Ground plate

Pos. 2: 
Fixed side wall
with aluminium
profil Pos. 2: 

Fixed side wall
with aluminium
profil

Pos. 3: 
Moveable side wall

Pos. 4: 
Top plate

Pos. 5: 
Aluminium profil

Pos. 5: 
Aluminium profil

Pos. 5: 
Aluminium profil

Pos. 6: 
Side wall holder

Pos. 10: 
Stackable plate

Picture 2

©
 C

op
yr

ig
ht

 b
ei

 c
ab

/9
00

82
59

/S
ta

tu
s 

12
/2

01
4

	 1. 	 Attach the fixed rack wall (2) to the ground plate (1) using two
		  phillips head srews M5 x 16 from below, (bolting torque 5 Nm).
		  Stiffening bracket locked in fixed side wall (Pos. 11)

	 2. 	 Attach the two aluminum profiles (5) to the ground plate (1) using
		  two phillips head srews M5 x 16 from below, (bolting torque 5 Nm).

	 3.	 Mount the moveable rack wall (3) with the aluminum U-channels   
		  to the ground plate by pushing the U-channels into the side wall
		  holder (6) until fully seated.

	 4.	 Position the top plate (4) identical to the ground plate (1).

	 5.	 Attach the top plate (4) using four phillips head srews M5 x 16
		  together with the stackable plate, (bolting torque 5 Nm).

	 6.	 Adjust the moveable rack wall (3) to the required PCB width
		  and check the parallelism.
		  (Screws M5 x 16 bolting torque 2 Nm).

Fixed side wall (2) : Positioning stripes
No. 1 is down, No. 50 is up

Position see picture 2 (top view)

Moveable rack wall (3): Positioning stripes
No. 1 is down, No. 50 is up.

Position see picture 2. For reversible use
don’t mount the plastic plate top

The PCB is placed between the PCB slots.
You can adjust the moveable rack wall (3)
to the requiered PCB width by losen the
four screw clampings (picture 3).
By tighten up the four screw clampings
(picture 3) the rack wall will be fixed again
(2 Nm).

Pos. 11


